Outline
#
1. Formulos' for inuerse:__

2. 'De;rwahver of inverse
funchons.

3. Solvi’hg et,ua.'HoM involving

or including legs. '

| e

Next+ | HW dh\t ‘T:..\es day‘
“No  class Thursday, Friday



. Fielc_i_n‘mg - Formalas o

Trverses

#

o Stark with: = f(x)
® End with: X = £7'(y).
E)Lame!s__

Find o Forrmula for Hne iaverte
of :
Y = fx)= 1|+ e”
| - e¥
Soluhon

@ Use Horizonta ‘ Line Test 4o make
Sure O focmula exirs,

_ Each horizontal
| ine cuds 3mph

orce oaly — £(x)
“has an inverse.




| @ Weite Y For £(x) 1n the
fFormula. | Then Solve o make
X +he subject.

X
— 1+ €
\/...

| — e*
Y- (l-—e*) = 1+e”*

y - y-e = 1+e”

y - | = eX+ y-e”
y-1 = e’ (1+y)
Y= o e
|+ Y |
&(—3—'—;‘_‘;’-) = Aa(e¥)
nz) = &)



x = 4dn (-fi—"—'—
+ty
3 Replace x by £7'(y). |
' ' ] . _‘, _’ B _
f _(.‘1) = An (—'Y;?)

Z. Derivahves of Inver15£

e You can Fiad values of the
der_iw;h've of +he inverse, which
is usually weithea: (f"')’(a.).

(F) (@ = '
f ' ( £ )

7 ro

#he clecivative plug 1N
O€ +He funchon | f-'(a),




Exomple . _
. - 2 A(TX)
IF: £00 = 3+ x>+ bon (TX)

a = 3,

Fiad: (f-')' (o).

Soluhion

© Evoluare f7'(a), ,
Note: £(0)=3 so F (3)=0.
© Find f'(X) '

\ ' x\ .
F'((x) = 0O + 2X + sec*(—= =y

@ Plug ‘o (f.'),(“) = '
| o

2(0) + sect(0) T




Example
Let X = # S'mores eaten per
day

_ Y = BMI of sS'moce eater,
In+erpret: .
(a) £(3) =
(6 £7(40) =
() f'(3) =
(d) (#71(45) =
Soluhon

(0‘-) If 'YOM eat 38’mor~.¢4 you'”
hoave a BM| of 322,

(b) TF your BM| is 40, you
ea} F S'moces per dey,



(C) I 'F your S’fv\orc. Cod:ump-h'a,\
goen up from 340 4 s'mere,,
Your BMIL will go up by
approx imnately 3 paiats,

(d) TL Your BMT goes Ffrom 45
4o 46, your detily S'more
wnxumphan will 1acrease Ly
0‘PP"° )dma-k-ly onr S'more.

3, Equakoa: Hat+ Tavolve

Logari-l-kmt

|°3( A"): X log(A)

leg( %)
looax - X

loa(A‘ B) - '°5 (A) + |03(5)
log (%) = log (A) — log(B)



Example

Solve: 1036()- 103(4-X) =1
Solution
log (=) =!
° \‘g=x) ~ "
10”7+ 10
= IO
| ‘*"’" |
X = 10(4 —-x)
X = 40 - 10x



